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The figures in the margin indicate full marks
Jor the questions =~

Answer either in English or in Assamese

1. Answer the féllowing questions : 1x10=10
SR 2PrRe Ted i |

(@) Mention one importance of normal
distribution. -

2T 579 5! SPIFel SCad 347 |
(b) When is F-test used?
F-o{r 9 @t I/ I -2

(c) . Give one property of t-test.
t-*R1e] «B1 (3B forar |
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( 2)

(d) Mention one cause of heteroscedasticity.
RafRoe™ b7 2 T SCEd T 1

(e) When does specification error arise?

 fow R @ @R vw e

(0 What is linear equation?
e W 2

(g) Write the full form of BLUE.
BLUESR =91 SR et

(h) Define coefficient of determination.

i T T BT

(;') If the error term is not distributed
normally with 62 variance, what type of
problem may arise?
I @ s AR ReIq RS o *forer
T, (SR (R TR 89 T ?

0) | What is critical region?
5oy o 1% 2

2. Answer the follt;wing questions : 2x5=10

o 2T B |

(@) Mention two properties of estimators.
SR Yo1 (381 Beay 41 |
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(b)

(c)

(@)

(e)

(3)

What does an errorterm represent?.
& om o2 & w2

Mention two sources of autocorrelatmn
FACTSTT o1 B3t T 'w | R
When does heteroscedasticity arise?
ReraRoar ofoa ST T o

Distinguish between one-tailed test and
two-tailed test.

GF-TRRAR o rfiz{w%ﬁ% ﬂ%}w«' TS
e foran |

Answer any four of the following questions :

5x4=20

& erpPrd R e wifee T fran

(a)

.(b)

What is normal distribution? Mention
the propertles of normal distribution. 1+4 )

e T R 7 T4l 36 CaRERTR B 1

What is hypothesis testing? What are
the various steps of hypothesis testing?
1+4=5

ﬁwwﬁsvmﬁw«ﬁf"ﬂw

'ﬁml
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(4)
(c) “Explain type-I and type-II error. 5
(d) Explam the cor;cept of regression.
Discuss the unportance of regression in
. economics. 2+3=5
TR TR I 0 R Sam— |
GG TOCE S I
‘»'(é)‘ Distinguish between multicollinearity
and autocorrelation.
T AT ORI TwS A1
HICAD= 90 | )
() Explain the method of measuring the
goodness of fit in a mult1ple regresslon
" model.
| e Re TE el fidfy wm
*FRISCo! T 41 |
4. Answer the following questions : 10x4=40
O PR s faan

(a) Estimate the regression lines from the

24A/704

following data : 10
FafiRe w4l oAl X3 SIS Y TR {1

WQ‘(W

X : 78 89 97 69 59 79 68 61
Yy : 125 137 156 112 107 136 123 108

( Continued )

(b)

@

24A/704

(5]

Or/ 91

Explain the consequences of auto-
correlation on OLS estimation. How can

autocorrelation be corrected? - 4+6=10

OLS wReFe TR TN I
T | & A (A TSI A1 2

What is test of signiﬁcance? Mention the

.various steps associated with tests of

significance. . ] 3+7=10
el «Rw B2 m’w ﬁw e %o
| W"I’F{QWWI ‘
’ " Or/ W
Explain the consequences of multl-
collinearity. Lo ‘ 10

TR SRR SICEADAl 41 |

‘State ahd prove Gauss-Markov theorem

for B, in linear regression model
Y; =Bo +B1X; +uy, where Bg and B, are

parameters and u, is stochasti_q term. 10

=B +BIXt +u, IRET (R YRS
qswmwwmqwmeso
R B, A6 T WF u, Fo WA |
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(6)

Or / g_r

Distinguish between null hypothesis and
‘alternative hypothesis. When is chi-
square distribution used? A random
sample of 5 students from a class was
taken. The marks scored by them are 80,
40, 50, 90 and 80. Does these sample
observations confirm that the class
average is 70? [Tabulated value of
't=2-78 corresponding to (n-1) d.f.].
: ' 2+3+5=10
Re wque o1e Rew Soqams 9 N4 ot |
chi-3sf e A IRYT F91 W2 BT ¥
5 &1 TP I99 HAIRTeE @R 20 |
(SRS 59 IR 80, 40, 50, 90 HF 80
W, @) RIQE A TR T 70 I
2 FRA? [t=2-787 Ofiege IH
(n-1) d.f I A w1 ] '

(d) Explain the uses of dummy variable for
measuring the change in parameters
over time. What is the use of dummy

variable in seasonal analysis? Explain.
5+5=10

Wmﬁﬁﬁama%ﬁmﬁﬁ@m
T I I 7, IR ¥ pfefes
Rew Wﬁwmﬁmww
‘N?WWI

{

~ .

(7)

Or / J3dl

Explain how specification error may
arise if irrelevant variable isincluded ina
linear regression model. Explain the
consequences of specification error. 4+6=10

FAPRPR voies Rl ReR ReT @ @
TeT T I T R FR ﬂaﬂ{iw

9
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